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BACHELOR OF EDUCATION (B. Ed.) 
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June, 2020 

BES-127 : ASSESSMENT FOR LEARNING 

Time : 3 Hours 	Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 

600 words : 

Explain the concept "assessment for learning". 

How is assessment for learning different from 

assessment of learning ? Discuss. 

Or 

Differentiate 	between 	formative 	and 

summative evaluation with suitable ex a s pies. 
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2. Answer the following question in about 

600 words 

Explain the concept of 'Reliability' of a test. 

How will you use parallel-form method for 

determining reliability of a test ? 

Or 

Explain the concept of 'Intelligence test'. How is 

intelligence quotient determined ? Explain with 

an example. 

3. Write short notes on any four of the following 

in about 150 words each : 

(a) Writing supply type items 

(b). Techniques of self-observation 

(c) Difference between achievement test and 

diagnostic test 

(d) Comprehensive evaluation 



I 3  I 	 BES-127 

(e) Sociometric technique 

M. Copstruct validity 

4. Answer the following question in about 

600 words : 

What is a Histogram ? Draw a Histogram of the 

knowing data with ektboratift the process of 

its drawing 

Class Interval Frequency 

1-5 

6-10 2 

11-15 7 

16-20 9 

21-25 12 

26-30 18 

31-35 10 

36-40 9 

41-45 5 

46-50 

N = 77 

P. T. 0. 



[ 4 ] 	 BES-127 

. t 7f1.127 

*VT tiitich (*. RT. ) 

I% 2020 

t Wit-127 : ad trim c, fr6R aTM-79-  

Tr1727 : 3 174 	 airtrEffm:y gem 
: 70% 

: (i) too Tiff athari ti 

(it) Tr* v791 i lifrdr VT:fig tl 

1. PP-1c1 tgcr 3114 	rff( WPM 600 

s 	: 

4 afeirrtr * fug 3nu9a 	tp-sictitr 	wcwr 

wrqR1 aTRTTPT * Thi{ aiwaff, afwm 

31rwui *ft-{:r TrwR 	t ? aqi 



5  1 
	

BES-127 

amt 

tllIcMcb 	q with eripzfri 	drolCi 841Zt I 

ft tiCl4nf 	divit GMIVI 

2. rvirrtriad 3R9 	ZW{ oily( 600 !1 

s Niq : 

	

TR/P(Tot 	I.:Rem-agar 	oquivit ch At(I 

1Z-W titikPT Thet rgkcitli Wit -grd M-74 * 

FOR ti4iiii•nt 311:M fey 	w-A 4 f 3171 414 

ebtil ? 

altm 

4 4.4 tr(hTur * (-14-sice-R1 	ciltv-if 	i i 3r.5. 

	

at irk) 	lin 	chta I ? "SIV dcmtuf 

6cf alTWIT VII 

P. T. O. 



161 	 BES-127 

3. 1-1 tgcf 	t 	WIT 11107 I 	ruiq4 

rr.rAggl swig) min 150 kie4 # tr71Z : 

(T) anfd srwrT *ITO wk ferrit 

( -a) aivq-dictractri t octi-ilrehtii 

(TO -atroraT TthaTur 	ficirtictich truT 

ell 41, rig) 

(w) *vita ichi 	chit 

N) 	away 

4. -Pi cri <cid V 	BR (-my' 600 Vigi 

tr-41Z 

iq -al a it t ? aTrareWl 	uf 'A Sff 

ngf chicl 	awl-alma. 	t -Rw 

airzirei7 ferfu 	: 



1 7 
	

BES-127 

ail aT---{-m.  wit lush 

1-5 3 

6-10 2 

11-15 7 

16-20 • 9 

21-25 12 

26-30 18 

31-35 10 

36-40 9 

41-45 5 

46-50 2 

N = 77 
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